

NAME: Obre Uboni Emmanuel
 1716W602/023
 Computer Engineering
 202

$$F = x^2 i + (3x + 2) j + \sin 2x k$$

$$\frac{dF}{dx} = 2x i + 3j + \cos 2x k$$

$$\frac{d^2 F}{dx^2} = 2i - \sin 2x k$$

$$\left| \frac{dF}{dx} \right| = \sqrt{(2)^2 + (3)^2 + (1)^2} = \sqrt{4+9+1} = \sqrt{14} = \underline{3.74}$$

Recall $\frac{dF}{dx} = 2x i + 3j + \cos 2x k$

When $x = 1$; $\frac{dF}{dx} = 2i + 3j + k$

d) $\frac{d}{dx} [f \cdot f] \text{ at } x = 1$

$$F \cdot F = (x^2 i + (3x + 2) j + \sin 2x k) \cdot (x^2 i + (3x + 2) j + \sin 2x k)$$

$$= (x^2 - x^2) i + (3x + 2)(3x + 2) j + (\sin 2x)(\sin 2x) k$$

$$= x^4 + (9x^2 + 6x + 6x + 4) j + (\sin^2 2x) k$$

$$\frac{d}{dx} (F \cdot F) = 4x^3 + (18x + 12) j + \sin(2x) k$$

$$\frac{d}{dx} (F \cdot F) = 4x^3 + (18x + 12) j + \sin(2x) k$$

$$= 4 + 18 + 12 + 0.035$$

$$34.035$$

$$\frac{d}{dx} (F \cdot F) = 34.035 //$$

QUESTION 2

$$r = (t^2 + 3t) i - 2 \sin 3t j + 3e^{2t} k$$

$$\frac{dr}{dt} = (2t + 3) i - 6 \cos 3t j + 6e^{2t} k$$

$$b) \frac{d^2 r}{dt^2} = \frac{d}{dt} \left[\frac{d r}{dt} \right]$$

$$\frac{d}{dt} \left[(2t+3)_i + (-6 \cos 3t)_j + 6e^{2t} k \right]$$

$$\frac{d^2 r}{dt^2} = 2_i + (18 \sin 3t)_j + 12e^{2t} k$$

$$\left| \frac{d^2 r}{dt^2} \right| = \sqrt{(2)^2 + (18 \sin 3(0))^2 + (12e^{2(0)})^2}$$

$$\text{at } t = 0$$

$$= \sqrt{2^2 + (18 \sin(0))^2 + (12e^0)^2}$$

$$= \sqrt{4 + 144}$$

$$= \sqrt{148}$$

$$= 2\sqrt{37}$$

$$= 12.1711$$